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N.B.: (1) Question No 1 is compulsory.
(2) Answer any four questions from remaining,.
(3) Assume suitable data ifrequired.

. (a) Calculate the Conjugate point for the following data.
Total Mass = 1000 Kg
Spring Mass = 8§00 Kg
Wheel Base=2.5m
Front/Rear weight distribution = 65/35
Front suspension = 30 KN/m
Rear Suspension = 50 KN/m &y

(b) Explain the Working of Power Steering withimcatske

2. (a) Explain the influence of windshield angls
(b)  Derive an expression to calculate thevalug

3. (a) Explainthe Significance of threel]
(b)  Explain No Roll suspension and

4. (a) Find Yawing Velocity of ¢
the following data.
Mass = 1200 Kg ﬁ*
Wheel Base =25 &
a=1.4mandb=0
C. —-70 000 y-.- 19

“hoert note on any four
v 1)  Four wheel Steering

{2} Vehicle response property

(3) Ride and comfort

(4) Suspension Motion Ratio

(5) Doubly conjugate and its application.

Suspension system,
[erconnected suspension system.
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